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1. BT 74549 7 2 A Z envelope (singular solution) * 35 E R B - [3+4 1 15 4]
y=cx+c’

2. TR e 15 4]
x3ym_3x2yn+6xy1_6y — 24x5
y=1, y@)=3, y"(1)=14

3. (a) R 8A Laplace Transformation o474 t-domain & s-domain
RBERD TR - (3% 541
(b) A Laplace Transformation & KM F oA F 2R [45 1 15 5)

Y'+10y' +24y =144 ; y(0) =%, y'(0)=-5

4. a%azﬁh\ﬂia’itﬁllgx%ky:w(x),-oo<x<oo E D R KB B £ w(x)
BB EE  REWT
0, —-m<x<-/2
w(x)=<{wy, —m/22x<7w/2, wx+27)=w(x)
10, #/2<x<nmw
(1) BRRw(x) 89 3 @R H(Fourier series) - [3+4 8 2] Q)R KM S F A i@
y(x)=2 [3% :7%]

5. RAET 5% 514 P A8 (boundary-value problem) : [¥} 4 @ 20 %)
2 2
—2;—?—4»%:0, u(0, »)=0, u(z, y)=1,u(x, 0)=0, u(x, y,)=0 + L & VoA EH -
6.(1) E4d & v=0(x, »)i-P(x, y)j ’?éﬂﬁg%%ﬁéy\jcde+Qdy=ij-nds » fp
sAHERCHNKEE nABBR CHBEMEZLEAE [ 165 ])
NEE3
@ -?-In —-——-—-—12————— ds=1?
Con | (x-2)"+y°

EP Ci2+y'=1 ' n AHE C LEQIIERLELRNE s AL C 8
WNEkSH-[H9:94%])
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